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AAREHAN SPECIAL

FINAL ROUNDAk#&E * e * 202058 A30H
E%ﬁ{@gﬁ ¥50,000,000 MarUhan Cup Ta’he’yo CIUb Sen’or 7,020YARDS/PAR72
Z2a7 JEHL K4 it 1R 2R OUT IN B R BEESES R 227 JEHL K4 Hi 1R 2R OUT IN 'EE 1R BEEFES R
-9 1 e3> 0 S 135 = 68 67 « 33 34 10,000,000 5T 12,512, 500 1 +5 55T #Il Et 149 = 76 73 35 38) 200, 666 62T 780,832 43
2 ZEH ®E 135 = 66 69 (35 34) 5,000,000 2T 6, 493, 750 3 BE BE 149 = 74 75 38 37) 200, 666 48T 779,291 44
-7 37 E T 137 = 71 66 ¢ 31 35) 1,966,666 19T 2,104,984 17 BEMEEX 149 = 71 78 (38 40) 200,666 19T 200,666 79
i 8R 137 = 69 68 (35 33) 1,966,666 8T 4,891, 666 5 +6 58T e ZE 150 = 78 72 (36 36 188,000 76T 721,000 45
AN Kz 137 = 69 68 (34 34 1,966,666 8T 4,479, 166 8 BB EE 150 = 77 73 37 36 188,000 73T 265,500 73
2R #— 137 = 69 68 (32 36 ) 1,966,666 8T 2,894,166 10 * HAR [E5A 150 = 76 74 « 37 37 - 62T - -
fE% 137 = 66 71 (36 35) 1,966,666 2T 3,621, 650 9 G- S 150 = 76 74 (36 38 ) 188,000 62T 1,174,666 31
HE BZ 137 = 65 72 35 37 1,966,666 1 1,966,666 18 SR O] 150 = 76 74 40 34 188,000 62T 277,000 72
-6 9 NI 138 = 71 67 32 35 1,300,000 19T 2,312,500 14 FiE OIEM 150 = 76 74 36 38) 188,000 62T 440,500 59
-5 10T X B 139 = 72 67 34 33 1,050,000 33T 2,856,250 11 BERES 150 = 75 75 <« 37 38 ) 188,000 57T 188,000 82
EE S 139 = 71 68 34 34 1,050,000 19T 2,225,000 15 BE WME 150 = 74 76 <« 40 36 ) 188,000 48T 478,000 54
-4 12T NE B3 140 = 71 69 34 35) 875,000 19T 1,383,333 23 +7 66T Ea = 151 = 74 71 41 36) 167,750 48T 4,484,000 1
K& HEH 140 = 70 70 « 36 34 875,000 13T 1,165,401 32 R 2 1561 = 73 78 (40 38) 167,750 39T 396,527 62
BEAR Bih 140 = 70 70 ¢35 35) 875,000 13T 1,453,625 21 AR =& 151 = 73 78 41 37) 167,750 39T 167,750 83
BH #7 140 = 67 73 38 35 875,000 4 1,266,832 25 FEOBH 151 = 72 79 38 41) 167,750 33T 236,250 75
-3 16T 2Kk i 141 =72 69 34 35) 700,000 33T 893,000 40 +8 70T B B 152 =79 73 36 37) 148,333 82T 242,333 74
FIg %— 141 =71 70 ¢ 34 36) 700,000 19T 1,052,000 35 * B3R H# 152 = 77 75 38 37) - 137 - -
RH BR 141 =71 70 ¢35 35 700,000 19T 700,000 46 * HF B 152 = 77 75 35 40 - 137 - -
-2 19T B &l 142 = 72 70 36 34) 424,166 33T 1,199,984 29 i B 152 = 76 76 <« 38 38) 148,333 62T 785,833 42
Ll TEBA 142 =71 71 36 35) 424,166 19T 547,777 49 &F BF 152 = 76 76 39 37) 148,333 62T 148,333 86
FE Rk 142 =71 71 35 36) 424,166 19T 957,166 38 +9 75T *x® E#H 153 = 76 77 38 39) - 62T - -
fil EF 142 =71 71 38 33) 424,166 19T 1,139,166 33 BBk EME 153 = 75 78 (40 38) 134,000 57T 1,049,000 36
AR BE 142 =71 71 35 36) 424,166 19T 1,184,999 30 +10 77T INE EX 154 = 81 73 40 33) 130,000 89T 446,611 57
Kl = 142 =71 71 36 35) 424,166 19T 540,416 50 * TEH i 154 =76 78 « 37 41 - 62T - -
BE Bc 142 =70 72 <35 37 424,166 13T 562,484 48 1119 xIhF FHT 1565 = 78 77 (38 39) - 76T - -
G T Y¥— 142 =70 72 <35 37 424,166 13T 521,666 52 +12 80T * KT =— 156 = 79 77 39 38) - 821 - -
Bft @z 142 = 69 73 (39 34 424,166 8T 1,371,666 24 * R8Ik 156 = 78 78 (39 39) - 76T - -
FIEE—RR 142 = 69 73 37 36 424,166 8T 2,133,832 16 +14 82T * #hfE =N 158 = 82 76 <« 36 40) - 93T - -
#iE E2 142 = 68 74 (39 35) 424,166 5T 529,332 51 * ER B 158 = 80 78 (40 38 ) - 81T - -
BEEFNE— 142 = 68 74 38 36 ) 424,166 5T 1,214,166 28 * Bl BAX 158 = 79 79 (38 41) - 821 - -
-1 31T =R F 143 = 74 69 35 34) 300,800 48T 4,605, 966 6 +15 8 *xME & 159 = 80 79 « 42 37) - 81T - -
Bl K& 143 = 73 70 37 33> 300,800 39T 2,325,799 13 +16 86T * HE F1T 160 = 82 78 « 40 38) - 93T - -
=iE g7 143 = 73 70 « 34 36) 300,800 39T 664,966 47 * Jlu FB 160 = 81 79 « 42 37) - 89T - -
FHEKBE 143 = 73 70 ¢35 35 300,800 39T 439,118 60 * BF FER 160 = 81 79 « 38 41 - 897 - -
B’ S 143 =72 71 36 35) 300,800 33T 1,076,618 34 *@EZL EF 160 = 78 82 (39 43) - 76T - -
0 36T @k ME 144 = 74 70 ¢35 35) 272,500 48T 1,004,000 37 +18 90T * Hu FEX 162 = 82 80 « 41 39) - 93T - -
Bl R 144 = 74 70 ¢35 35) 272,500 48T 1,584,250 20 * /Y FEZ 162 = 78 84 ( 38 46 ) - 76T - -
&0 # 144 = 73 71 38 33) 272,500 39T 1,247,500 26 +20 92T * k@ Mt 164 = 83 81 41 40) - 98T - -
K OE— 144 =71 73 36 37) 272,500 19T 1,633,125 19 x BB B® 164 = 78 86 <« 47 39) - 76T - -
+1 40 2R RH 145 = 74 71 (36 35) 260,000 48T 398,318 61 21 94 x NEFEFEFN 165 = 85 80 (39 41) - 100 - -
+2 AT AR WMX 146 = 73 73 36 37) 247,500 39T 385,818 63T +22 95T * B{iE j&— 166 = 88 78 (39 39) - 105 - -
#HAR T 146 = 71 75 37 38) 247,500 19T 10, 622, 500 2 * EA AR 166 = 87 79 <« 41 38) - 1037 - -
BR R 146 = 70 76 <« 39 37 247,500 13T 909,166 39 * &H %= 166 = 82 84 (42 42) - 93T - -
BE B 146 = 70 76 <« 36 40> 247,500 13T 385,818 63T * IR Bk 166 = 79 87 46 41 ) - 87 - -
+3 45T *x ZEH —# 147 = 79 68 « 36 32) - 82T - - +23 99 * BiR 1T 167 = 86 81 <« 41 40 - 1017 - -
w7 147 =76 71 37 34 230,000 62T 368,318 66 +24 100 * FHE Mz 168 = 82 86 (42 44) - 93T - -
HEA ER 147 = 73 74 37 37 230,000 39T 230,000 76T +25 101T * XK#n &t 169 = 89 80 « 39 41 - 106 - -
I HE 147 = 72 75 37 38" 230,000 33T 230,000 76T * Bl E=— 169 = 87 82 (40 42) - 1037 - -
+4 49T HR 1tk 148 = 75 73 (38 35) 213,000 57T 5, 688, 000 4 * g Bz 169 = 86 83 (42 41 - 1017 - -
BliE #x 148 = 75 73 36 37) 213,000 57T 302,000 69 +37 104 * Hx = 181 = 93 88 (46 42 ) - 107 - -
ME BE—- 148 = 75 73 36 37) 213,000 57T 1,429,250 22
INE AR 148 = 74 74 37 37 213,000 48T 213,000 78
B TERSLIE 148 = 74 74 36 38) 213,000 48T 2,656,000 12
BE g 148 = 73 75 38 37 213,000 39T 481,333 53
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